
W-3 DG     km 0+114.58

X(N)=5686087.85  Y(E)=8412491.01
R=500.00m     Łk=20.52m
=2.6126g     T=10.26m
Z=0.11m

W-2 DG      km 0+081.25

X(N)=5686062.76  Y(E)=8412469.07
R=1100.00m      Łk=42.60m
=2.4653g      T=21.30m
Z=0.21m
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PZ km 14+190.00
X(N)=5685964.00
Y(E)=8412501.10

PŁK km 13+894.77
R=4500.00 m
X(N)=5686079.63
Y(E)=8412229.48
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W-1 DG km 0+015.78

X(N)=5686011.79 Y(E)=8412427.89
R=30.00m Łk=8.49m
=18.0062g T=4.27m
Z=0.30m

W-1 DK km 13+956.03

X(N)=5686054.43 Y(E)=8412285.31
R=4500.00m Łk=122.50m
=1.7330g T=61.25m
Z=0.42m
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R=10.00 m
X(N)=5686065.90Y(E)=8412344.69

KŁK km 14+017.27
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X(N)=5686066.41
Y(E)=8412345.10

R=30.00 m
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X(N)=5686096.25Y(E)=8412497.77

W-1 DD km 0+007.17

X(N)=5686022.35 Y(E)=8412427.20
R=20.00m Łk=5.66m
=18.0062g T=2.85m
Z=0.20m

W-4 DD km 0+104.13

X(N)=5686055.55 Y(E)=8412336.33
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=117.9509g T=13.31m
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X(N)=5686036.81 Y(E)=8412392.69
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Z=0.21m

PŁK km 0+011.51
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Y(E)=8412426.24
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LEGENDA:
Oznaczenia branży drogowej:

Biuro Usług Projektowych

drogowiec


